
www.vintageair.com

908643 REV B 02/07/24, PG 1 OF 1

Packing List: 
1987-93 Ford Mustang with A/C
Gen 5 Installation Kit (634970)

Qty.
15”
20”
1
6
1
1
2
2
3
8
4

32”
3
3
1
4
5
2
5
3
2
1
2
2
1
2
1
1
1
2
1
1
1

Part No.
31050-VUD
49003-VUP
461171
31606-VUA
65598-VUE
41117-VUP
18102-VUB
188888
31102-GUR
187926
185588
21402-VUP
20021-OFR
182514
18979-VUB
18235-VUB
182872
18294-VUB
18247-VUB
18152-VUB
189125-MUR
182465
21301-VUP
213010
648287
18147-VUB
644333
644330
226001
226012
226008
226004
238016

Description
Drain Hose, 1/2”
Press Tape
Valve, Heater Control, 3-Wire
Hose Clamp, #12
Drain Elbow, 1/2”
Refrigerant Oil
Well Nut, 1/4-20
Bolt, 1/4-20 x 1”, Serrated Flange
Plastic Plug, 1/2”
Spring Clip
Screw, #10 x 5/8”
Foam, 3/8” x 1”, Polyurethane Open Cell
Sealing Foam, 1/8” x 1/2” x 8”
Screw, 10-24 x 1/4”, Pan Head
J-Nut, #8
Screw, #8 x 1/2”, Pan Head
Bolt, 1/4-20 x 3/4”, Serrated Flange, Black
Stud, 1/4-20 x 1 3/4”
Screw, #10 x 1/2”, Sheet Metal
Nut with Star Washer, 1/4-20
Bolt Retainer, 1/4”, Pushnut
Screw, #12 x 1/2”, Self-Tapping
Tie Wrap, 4”
Tie Wrap, 5 1/2”
Bracket, Heater Control Valve
Locknut, 10-32
Drain Plate, Cabin
Drain Plate Assembly
Fuse, ATC/ATO, 5A, 32V
Heat Shrink, 1/4” Diameter
Butt Splice, 16-14 AWG
Butt Splice, 22-16 AWG
Split Sleeve, 1/2”, Flame-Retardant

Checked By:
Packed By:

Date:

31 94

14 18 2215 19

29 30 31 32 3323

16 20

24

10

13 17 21

25

11

12

875 62

NOTE: Images may not depict actual parts and quantities.
           Refer to packing list for actual parts and quantities.

282726

  No. 
1.
2.
3.
4.
5.
6.
7.
8.
9.

10.
11.
12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22.
23.
24.
25.
26.
27.
28.
29.
30.
31.
32.
33.




